51.

52.

53.

54.

55.

56.

57.

58.

59.

60.

DETERMINANTS T2

2e2 bhe bh+4re
c’a® ca c+a|isequalto
a*h®* ab a+bh
L
a)—(ab—i—bc—ca‘l D) ui + b+ ca c) 0 Du+b+e
abc ’
1+a 1 1
Ifg™* + 851+ ¢ ! = 0suchthat 1+h 1 |= Athenvalueof Ais
1 1T+
a)o b) abe c) _abe d) None of these
If a, b, c,are in A.P., then the value of
x+1 x+2 x+a
y+7?2 y¥+3 xy+hlis
x13 x14 xloc
a) 3 b) _4 o d) None of these
a—b b—c c—a
X—¥ VY—2 Z—X|isequalto
r—q p—r r—p
a)a(x+_}r+z)—b(p—qr—r)+c b) 0

C) abe + Xyz + ppr d) None of the above

a—h+rc -a—h+r 1
a+b+2c -a+b+2c Z|S
3c 3c 3
a) gah b) ah ) 12ah d) 24p
0 1 -2
In the determinant [—1 0 3 |, the value of cofactor to its minor of the element 3 is
2 =3 0
a) _1 b) 0 a1l d) 2
If e is a cube root of unity, then for polynomial is
1+ 1 w w?
w ¥ + w? 1
w? 1 ¥4 o
a)l b) ., Q) .2 d)o
Xx+a b c
Ifl @« x+4b ¢ |= 0 thenxequals
a b x+¢c
Agtrhtr b) _(a+b+0) Daathte d) o, —(a+b+0)

If a, b, ¢ are the sides of a AABC and 4, B, € are respectively the angles opposite to them, then

a? hsinA csin4
b sinA 1 ces(B — C)| equals
csmA cos(B—1C) 1
a) sin4 — sin B sinC b) abe g1 d) 0
2]’—1 3?’—1 4]’—1
Ifp, = X ¥ z , then the value of ¥.7—. D, is equal to

™1 (31 —1)/2 (4" —1)/3
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64.

65.

66.

67.

68.

69.

70.

71.

a)l b) 4 o d) None of these

If A, F and € are the angles of a triangle and

1 1 1
1+sinAd 1+sinFb sinC -0
sind +sin*A4 sinB +sin® 8 sin¢ +sin® ¢
then the triangle must be
a) Equilateral b) Isosceles c) Any triangle d) Right angled
1 sing 1
LetA = |—sind 1 sin @ |, where 0 < 8 < 2 7. Then, which of the following is not correct?
-1 —sin 8 1
a) pet (4) = 0 b) Dot (4) € (—e2, 0) ¢) Det (1) € [21] d) pet () £ [-2,20)
1 5 7
log_e & +/B|isequalto
logip10 5 ¢
a) o b) . g1 d)o
Ifa? + h? 4+ 22 = —2and

I+a®x (L+b%)x (L+c%)x

fFix)=|0+a)x (1+h*x) (1+c?)x| then f(x)isapolynomial of degree
(L+a®)x (1+b5)x (1+c%x)

a) 2 b) 3 ) 0 41

If ¢ < 1and the system of equationsx + v —1=0,2x — y —c = 0 and — bx + 3by — ¢ =0 is consistent,

then the possible real values of b are

3 3 3
a)bE(—B,—) b)bE(——,4] qu(——,BJ d) None of these
4 4 4
I 1 1 1 |
The value of [(2¥ +27*)% (3* +37)* (5 +5%)?|is
lrox n—=x%2 fox o —x%2 fcx r—xy21
|\'£- & ,l I\.J o ) IL.D fv ) ) 1
a) 0 b) 30X C) 30—)«:’ d) 1
If A is an invertible matrix, then dez(471)is equal to
1
a) deth(4) b) a1l d) None of these
det(A4)
1+a 1 1
Ifa=0Db=+00¢c=0then| 1 1+5b 1 |isequal to
1 1 1+¢
1 1 1 1 1 1
a) abc b)abc(’_—l———i———l-—) €) 0 ) i
a h a b rc
a -1 0
Iff(x)=|ax a —1|.then f(2x)— f(x)isequalto
ax” ax a
a) yx b) gy (2a + 3x) ) ar (2 + 3x) d) None of these
=12 0 A
Iflo0 2 —1|=-360,thenthevalueof Ais
2 1 1k

If w is a complex cube root of unity, then
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76.

77.

78.

79.

1 w o?
w w? 1 |isequalto
w 1w
a) b) 1 ) 0 d),,
10C4 1063 llCm
The value of | 1€, He. 12¢. 2| = 0. whenmis equal to
e Cy Y Csa
a) 6 b) 5 Q) 4 41
1 1 0
Ifl2 0 3|=29thenxis
5 -6 Xx
a) 1 b) 2 Q) 3 d) 4
sinfr  cosfy 1
cosly sgin?x 1|=
—10 12 2
a)o
b) 12 cos?x — 10sin®x
) 12sin? x — 10 cos®x — 2
d) 10sin2 x
If A and B are square matrices of order 3 such that |4| = —1, |B| = 3 then |34R] is equal to
a) _g b) _g- ) —27 d) 81

If a, E, ¢ are non-zero real numbers, then the system of equations
(e+a)c+ay+az=0

ax | (g1 B)ylez=20

ax+ay+(a+clz=0

has a non-trivial solution, if

A gl —(ateh e

Dgt—qg+b+c
Vag+a+b+c=1
d) None of these

a b ac—Db

The determinant |b ¢ ba — c| vanishes, if

2 1 0
a) g, b, care in AP b) o= % c) a,b, care in GP d) Both (b) or (¢)
+ 3 7
If —9isaroot of the equation [2 x 2| = 0, then the other two roots are
7 6 x
a)2,7 b) 2,7 c) 2,—7 d) _2,-7
a X c b

Ifub+be+ew=0and| ¢ bh—x a

] a c—X

= (, then one of the value of x is
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84.

85.

86.

87.

88.

89.

. 1/
a) (g2 4 b + )2 b) F(a2+b2 +c2)]
S )

1 Rk d) None of these
9 [E (a® + b* + r:zj]

x—1 1 1
The roots of the equation | 1 ¥y—1 1 |=0,are
1 1 r—1
a) 1,2 b) 12 J1,-2
1 2 3
12 22 33|isequalto
13 2.3 3:‘
a) 11213 b) 113151 <) g
o 2 .
IfA = 5 CC]and |43| = 125, then the value of wis
a) i1 b) |2 i3
X 4 y+z
The valueof |y 4 z+ x|.is
z 4 x+v
a) 4 D)y +y+z ) xyz
-1 cosC cusE
If A, B, C be the angles of a triangle, then |cos € —1 cos A|isequalto
cos B cosA -1
a)1 b) 0 €) cos A cosE cosC
a’ +x ab ac
One factor of | ap b +x ch |is
i ch 2+

a) 2
b) (a2 + x) (b2 + x) (2 + x)
0l

.

d) None of these

¥r+1 x+42 x+43

Iffx+2 x+3 x+4| — Othena,b, carein
x+a x+b x+c
a) AP b) HP c) GP
100 100
If4 — |x 1 0land I — |0 1 0|, then
xx 1 001
A’ —44% + 34 +Iisequalto
a) 31 b) s ) g
1 X v
Determinant |2 sinx | 2x siny | 3y|isequalto
3 cosx+3x cosy+3y
a) sin(x — y) b) cos(x —y) <) cos(x +y)
a*+x ab
If @, b, ¢ are the positive integers, then the determinant A= | gk b+ x

ac bc

d _q, 2

d) g

d)Lr

d)0

d) ccsd +cosPBcoslC

d) None of these

d) 2y

d) xy(sin(x — y)

ac
bc | is divisible by
c*+x
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94,
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97.
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a) 42 b) 2 ) (0 +b% +¢?) d) None of these

bc ca ab
If @, b, ¢ are non-zero real numbers, then|ca ab be|vanishes, when
ab bc ca
1 1 1 1 1 1
g+rer-0  poor-t-o  gl,l 1 gl 11
a C a C h o a h
1 2 —1) -1k —2)
ffx)=|x-1 (x-1(x-2) (x-1Dx-2)(x-3)
X i(x—1) x(x—1)(x—2)
Then, the value of £{49) is
a) 494 b) 40« c) 0 d)1
1+ ax 1+ bx 1+ cx
iffl+ax 1+bix 1+cx|=4,+ A x+ 4.x* + 4,1° thend, is equal to
1+a,x 1+bx 1+ o0,x
a) abc b) 0 a1l d) None of these
If 4, B, L are the angles of a triangle, then the value of
—1 cosC cosE
A= |cosC 1 cosAlis
c0sB cosd4 -1
a) cosAcosB cosC b) sinasinBsinc o0 d) None of these
The value of the determinant

1 cos(f —a) cos(y—a)
cos{ea — ) 1 cos(y— f)|is
cos(e —y) cos(B —vy) 1

a) 4cos a cos ff cosy b) 2 cosa cosf cosy ¢) 4sina sinf siny d) None of these
x37

If one root of determinant|2 x 2| = 0, is—9, then the other two roots are
76 x

a) 2,7 b) 27 ) —27 d) 2,7

If0<|x]<2-1<]|y]<1land1 < [z] < 3.[] denotes the greatest integer function, then the maximum

value of the determinant
x]+1 [l [2]
A=| [x] DI+1 [z] |is
[x] bl [z]+1

a) 2 b) 6 c) 4 d) None of these
1 1 1
Ifp=|1 1+x 1 |[forx = 0y =0 then Dis
1 1 14y
a) Divisible by neither x nory b) pivisible by both x andy
¢) Divisible by x but noty d) pivisible by ¥ but not x
1 X (x+ 1)
If f(x)— 2x x(x—1) x(x+ 1)  |then f (11)equals

3ax—1) x(x—D(x—-2) xx—-1x+1
a)0 b) 11 9 _11 d)1



99. 14
The roots of the equation h -3
5'1 2x
a) 1,2 b) 12
100. One root of the equation
3ix—8 3 3
3 3x— 8 3 -
3 3 3x— 8

a) 8/3 b) 2/3

€)1,-2

c) 1/3

41,2

d) 16/3



